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Q. [, 1, The quantity demanded of a commodity at a pie oft 8 per rmit is 6U) uaits. fts price falls

' I by 25 per ccnt and quantity demarded rises by f2O uaits, enkulate its price elasticity of
demand- Is its demand elastic? Give reason frr yqrr answer.
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Q. !(tte price of a commodity is ( l0 per unit and the quantity demanded at this price is 50
I " units. Its price falls to ( 6 per unit Hw much will be its quantity demarided at the new

price ifprice elasticityofdemand is 0.5? ICBSEDelhi 199813

Q. qn. I{hen the price of a commodity falls from { tO.per unit to (!g per unit, its quantity
demanded rises from 1,000 unis to 11160 units. Calculate its price elasticity of demand.
Is its demand inelastic? Give reason for your answer. lcBsE (ar) 200514

i - e. ci" A consumer buys 40 units of a good at a pdce of? 3 per unit When price rises to t 4 per
i - D L.-it ha l,rws 3il units- Calculate orice elasticitv of demand by the total expenditurei - D I uoit he buys 30 units. Calculate price elasticity of demand by the total expenditure

[CBSE Delhi 2007] 4I method.
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r.., . 0..-* AconsurerbuysS0unitsof agoodatapriceof{5peruniLSupposeprice elasticityof
) Ld"-.od is (-) 2. At what price will he buy 64 units? [CBSE Delhi 2007] 4
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o.r,*Lconsrumer buys l0 units of good X at a price of { 5 per unit" The p*" "1tl"i?."f I--% i"-""a for this good is 2. Priie fatls to ( 4 per unit How many "-5-{q1f-I-:t-h: I
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O. ,.,a The price of a commodity is ( 50 pernit and its SlTqry -{tT*ded 
is 5fi) units' Its*'tt1 

;;;.?;;";f A p"';"it.4 q"Triy demanded falls by 9d rrnits'. cdculate its price
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